OPERATING MANUAL

Motor Driven Sand Equivalent Shaker
SE-2B & SE-2BF

SE-2B shown with SEA-101

Rev: 02/08/2013

PHONE: 800-444-1508
740-548-7298

P.O. Box 200, Lewis Center, Ohio 43035-0200
E-mail: customerservice@gilsonco.com Website: www.globalgilson.com

FAX:

800-255-5314
740-548-5314



Gilson Company, Inc. Motor Driven Sand Equivalent Shaker: SE-2B & SE-2BF

SAFETY INSTRUCTIONS

Whether you are the owner, employer, operator, or maintenance person for this machine, safety is your responsibil-
ity. You are responsible for operating and maintaining this equipment in compliance with these instructions and for
using common sense. Review and completely understand the operating and safety instructions before using this
machine.

This machine operates on electric current. Improper operation could result in electric shock,
electrocution, or an explosion!

1.  ALWAYS make sure the motor and other electrical components are appropriate and properly configured for
your intended use and available power source. The Motor Driven Sand Equivalent Shaker is normally wired
for 115V/60Hz and comes with a 1/6hp DC gearmotor.

2. ALWAYS check electrical wiring for loose connections and for pinched or frayed wiring.
3. ALWAYS use a properly-wired, three-pronged plug, or otherwise ground the machine. Connect the machine to
a properly-wired, three-pronged receptacle. Make sure the cord is located where no one will trip or get tangled

in it.

4.  ALWAYS disconnect and lock out power supply before performing maintenance and repairs.

Do NOT use this machine in an explosive atmosphere. It is NOT explosion proof.

WARNING: COperate only in a properly ventilated area.

WARNING: Your Motor Driven Sand Equivalent Shaker is NOT counterbalanced. It must be adequately mounted
to a substantial, rigid foundation, preferably a poured concrete floor. Otherwise, the machine will
vibrate excessively and move around.

WARNING: Level the machine following the procedure outlined in the Unpacking & Set-up section, prior to
operation.

WARNING: Stop the machine immediately if excessive vibration or machine movement occurs.

WARNING: DO NOT operate the machine without all guards and covers in place.

WARNING: Keep all parts of your body away from moving parts of the machine while it is operating.
WARNING: DO NOT wear loose clothing which might be caught in moving parts of the machine.

WARNING: Wear safety glasses, protective clothing, and hearing protection. Wear approved NIOSH/MSHA

respirator as required by the sample to prevent your inhaling any dust which may be considered
hazardous.

Page 2



Gilson Company, Inc.

Motor Driven Sand Equivalent Shaker: SE-2B & SE-2BF

1.0 UNPACKING & SET-UP:

SE-2B and SE-2BF Motor Driven Sand Equivalent Shak-
ers are shipped completely assembled and ready for use.
Merely plug the unit to 115V/60Hz supply (or 230V/50Hz
for model SE-2BF). Adjust the level using the four adjust-
able feet and lock them in place.

2.0 OPERATING INSTRUCTIONS:

Place a SEA-101 Clear Plastic Cylinder with rubber stop-
per in position on the slide assembly of the shaker. The
spring-loaded holder fits over the cork in the open end of
the clear cylinder.

The shaker has a throw of 8in (203mm) at 175 cycles
per minute. The 3-position center switch is used to select
45 second test time (left), or 10 minute test time (right).
Center position is off.

NOTE: This manual is a general guide to operation
and maintenance of this device. The user is
responsible for conducting the test in accordance with
applicable ASTM or AASHTO specifications.

The 45 second time is used for Sand Equivalent tests
described in ASTM D 2419, AASHTO T 176 or California
Test Method 217. The 10 minute time is used for the Du-
rability Index Test described in AASHTO 210 or California
Test Method 229.

Once time is selected, push the bottom START button and
the machine will run for the selected time, then reset when
it shuts off. The top red STOP button is used to terminate
a test during a timing cycle if necesary for emergency or
other reasons. When the STOP button is pressed, the
machine resets and will run for the full test time when the
START button is pressed again.

3.0 MAINTENANCE:

Normal routine maintenance consists of lubrication as
follows:

Once a year, apply a small amount of automotive chassis
grease at five locations. The gearmotor is lubricated at
the factory and is sealed for the life of the unit.

1. Remove the top and rear covers.

2. Locate one grease zerk at the crank pin on the gear-
motor shaft.

3. Locate one grease zerk at each of the four vee wheel
attaching shafts.

Page 3



Gilson Company, Inc. Motor Driven Sand Equivalent Shaker: SE-2B & SE-2BF

4.0 PARTS LISTS & DIAGRAMS:

4.1 SE-2B & SE-2BF Case Assembly Parts List & Diagram

I:ﬁ:‘ RZ:; d Description I:lecT RZ:; d Description
10 1 D-SE2B-010 Base 71 15 #10 Lockwasher Helical Spring
28 1 B-SE2B-28 Pot Bracket 72 5 #10 Lockwasher Internal
32 2 Window 73 8 #10 Lockwasher External
33 1 Cover Stifner 81 1 Motor Chassis
41L 1 D-SE2-41L End Left 82 1 Motor Resistor Kit
41R 1 D-SE2-41R End Right 83 1 Motor Pot
42 1 D-SE2A-42 Case Front Lower 84 1 Pot Locking Nut
43 1 D-SE2A-43 Case Rear Lower 85 1 Pot Mounting Nut
44 1 D-SE2A-044 Top Cover Assy 94 4 Foot
53 2 #6-32 x 3/8 Lg. RDHDMS 95 1 Start Switch
54 24 #8-32 x 1/2 Lg. FLHDMS 96 1 Stop Switch
55 22 #10-24 x 3/8 Lg. THMS 97 1 Selector Switch
59 2 1/4-20 x 1 1/4 Lg. HDCS 98 1 Switch Labels Set of 3
60 4 1/4-20 x 1 1/4 Lg. HHCS Full Thread 99 1 45 Sec Timer
64 24 Nut, 8-32 Hex 100 1 10 Min Timer
65 8 Nut, 10-24 Hex 101 1 Motor Relay
66 10 Nut, 1/4-20 Hex 102 1 Safety Switch
69 24 #6 Lockwasher External 103 2 Lid Bumper
70 24 #8 Lockwasher Internal 104 1 Lid Handle Cover

Figure 1
SE-2B & SE-2BF Case Assembly

97

%)




Motor Driven Sand Equivalent Shaker: SE-2B & SE-2BF

Gilson Company, Inc.

Alquiessy awe. aseg 4ge-3S ® 92-3S

Z 2InbBi4

buldg [edl|eH 18ysem3007 O L# 8 LL

X3H 02-91/L 1NN L 89

X3H ¥2-8/€ 1NN 1 L9

X3H ¥2-01 ‘INN 8 g9

SINHH ©1 ¢/ L X91/G ‘MaI0S I €9

SINHH "©71 /€ X 91/S ‘MaJ0S 14 29

SINHH '©71 8/G X 91/G ‘MaJ0S 14 19

SOHH O« X /1 ‘MaI3S 14 89

SINAHNJ 'D7 8/S X H/1 ‘MaI0S (014 YA

SINHA 'O ¢/1 | X¥2-01# ‘MaIds 8 99

SHO 'OT .k X' OS 9L/E I (0]

apInY Jabun|d ¢6-¢3S-3 I L

Jabunid eqnl 06-¢3S-3 I (01

190eds 6¢-9¢3S-V 1 62

WYbIap J81uno) /20-g23Ss-49 1 L2

abele)d /1-923S-0 1 Ll

300|g PIN 1010 S1-9¢3S-9 c Sl

ISBUM B3N HIdZ 14 90} 18MOJ|04 WED [S3YM 14 88 Xo0|g we) v 1-d¢3S-d I 143

uld JueiQ Y187 L SOl Joamo|jo4 wed queld 1 .8 [®9UM 89/ €1-923S-V 1z €l

qouy| 1 €6 buiidnog yueig 1 98 3oel] 99/ ¢L-923S-9 1 cl

uld |1od L c6 Jojowesy) Jopjeg 1 08 JueiD | 1-g¢3S-9 L Ll

puudg 1 L6 8/€ Jaysemxo0T v 9/ aseq 0L-d¢3S-d L ol

ByseM 191720 I 06 91/G I8ysem3d0T 6 <7 J8pIOoH 8qn] ¥0-d¢3S-d I 14

J8yseM 19190 14 68 V/1 “18YSemx;007 cl 17 poddng abelied €0-9¢3S-A c €
AT9INISSY JNVH4 3sva A19IN3SSY JINvH4 3sva AT9INISSY ANV 3sva
uonduosaqg u”awm ON uonduasaqg uuuwm ON uonduosaqg u”awm ON
ON way ON way ON way

weubelq % 1s17 sMed A|quassy awel] ased 492-3S ® 92-3S Z'F

Page 5



Gilson Company, Inc. Motor Driven Sand Equivalent Shaker: SE-2B & SE-2BF

4.3 SE-2B Electrical Schematic

CONSTANT SPEED
SAND EQUIVALENT SHAKER ELECTRICAL
120 VAC 60 HZ 1 PH W/DC DRIVE
“_ 120 VAC 1 PH_ 60 HZ m':f"m‘“"
O

FLACK]

120 VAC SUPPLY

DC MOTOR POWER SUPPLY
BALDOR JBCT41
__W/ RESISTOR \iT $8R0101

AT GP 7400 (BALDOR)
178 WP 175 RPM OUTPUT BASE SPEED
11.0 GEAR RATIO

S0 MAX, M. LBS. TORQUE

ARMATURE DC 80V  (74=JK=0)

STROKE SPEED ADJUSTMENT

MAJOR COMPONENT LIST 120 vac 60 H2 1 PH
NO. 0N
- DESCRIPT -
mun Fu'r: *START" I nwaxu — ONE REQ'D.
2 ONCEPTS § 22PBNC-XMRD - ONE REQ'D
% LEGEND PLATE *STOP ] ﬂLHII‘.II — ONE REQ'D.
LEGEND PLATE "4SS_OFF-10M" § 23LPBK-SP - ONE R
4| SENTROL §115-7Y-06K _SAFETY INTERLOCK SWITCH — 1 REQ'D
5| RELAY - DAYTON 1A491E — OME REQD. |
£ |45 sec_- 241 = -
o =8 JAC ggarfj g__cn.f:mﬁﬁc
7 | 10 WiN. - SsAc gTsD2416005 — ONE REQ'D. = m’:ﬂ:’:m::i W 99 WALINTA, OHIO ]
HD_SUBSTITUTES
 REPLC SWITCHES 17-10-33) GILSON COMPANY INCORPORATED
B | BALDOR RIGHT ANGLE DG GEAR MOTOR W/80 VDC PM_MOTOR . u-% s SE-2 130 VAC 80 HZ
#GP 7400 173 RPW OUTPUT {11:1) - OME REQ'D. B GEN REY NONE FM—H
G | BALDOR CHASSIS MOUNT DC_CONTROL S i — M43 ]
#BC141 W/RESISTOR KIT § BRO101 — ONE_REQ'D. 1 5950705-GCl

Page 6



